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SIMPLE INTEREST ASSIGNMENT

1. In what time will X 8000 amount to X 8360 at 6% per annum simple interest?
WBHG 6% Hall e iguled I 8000 eleuaiena] &HTeLHH6D X 8360 L& OTHID?

2. Aravind borrowed a sum of X 8,000 from Akash at 7% per annum. Find the Simple
interest and amount to be paid at the end of two years.
aalhsd eeameut I 8000 m, sysmay eaulOmhE mBHSG 7% Salally aisd
sLeamal QuBBTT. @rewih opeuiGaeilar (pyealed Spailbsh Falshs Ceuswigul SHeleully
LBDID CFHTENHMUI  SHT60TH.

3. A man borrowed X 8000 from a bank at 8% per annum. Find the amount he has to
pay after 4 %2 years.
Qm BUT UWBHG 8% aimb X 8000 epumul euEBuled ST eummIAemy. 4 Y2
AMBBEHSGL LIBG Seu] CFashsd Couewigu! OFHTenNDHMUIS HTEWIS.

4.  Kumaravel has paid simple interest on a certain sum for 2 years at 10% per annum is
X 750. Find the sum.
GwrGad @m GUIILS Oxtdsdsd 10% ey oisd 2 eewibser sfiss I 750
M S RUTES CFNISHI I, DIFMEVH HTEWIS.

5. Velan borrowed X 60000 from a bank at 9% per annum for 2 years. He lent this sum
of money to Nilavan at 10% per annum for 2 years. How much did Velan
gained from this transaction?

Gouevest 2 IBHBEHSSH @ QUBLSIEBG 9% aipd 60000 epUTUI eumiBuled L 65T
aTRIBT. @hd OCFTmdmUW Hevauaibd pmbBHG 10% aisbd 2 LBGHEHHE
sLamad QBTHHHM. BbHdH UfleufdHoHamen cpeold Geusvelt GUBM 6GUTUILD 6T6lIeu6T6Y?

6. If Re.1 becomes Rs. 9 in 60 years at a simple interest, then the rate % per annum is
SHeafeul lpuier S 60 SiewiBhdefed 1 qpuTUl, 9 EHUTWTS WTBISBH 6163160, DLWIH UL I
% wng?

7. Find the simple interest on X 4000 at 7.5% p.a. for 3 years 3 months. Also, find the
amount.
3 oemiBEei 3 ITHRIBEHSE 7.5% allp eaisb 4000 pUTWISEG Sl el igenwid
semiLpSlwieb. Gogiib, OFHTenHENUISH HT6wISH.

8.  Find the simple interest and the amount due on X 6,750 for 219 days at 10 % per
annum.
26,750 5 219 pr send@ 10% ey afsbd Sl genwiub, COHTEnEMmUILID ST6uIsb.
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10.

11.

12.

13.

14.

15.

Find the rate of interest when Rs 800 fetches X 130 as a simple interest in 2 years 6
months.

2 SeBseT 6 Wisnsalsd 65800 sig Safl aullgurs X 130 HHABSH s eully
AIHHMSH BHTEWIS.

A principal becomes X 10,050 at the rate of 10% in 5 years. Find the principal.
T oFe0 oewibsg 10% ey eaissdled 5 opmiiGsefeo I 10,050 Qs o wiMbsal
GTRN6D, DIFENEVSH SHTEWISH.

How long will it take a certain sum of money to triple itself at 13% % per annum
simple interest?
QM GUIUILL OFTend LWHIHHE 13% % sl eaulguied iyl WLMSTS DHBfoHD

6161161616 HTEVLD SLEGHLD?

Stephen invested X 10,000 in a savings bank account that earned 2% simple interest.
Find the interest earned if the amount was kept in the bank for 4 years.

eroleLIlT  eiTUaUT  Heigl eumidulenr GFlliys sewddled X 10000 s 2%  sefeul iy
alpHFHev WPWHeSH OCFUISTT elefled, 4 emihdefen (paled SeuT GUEBID Heolleul g
61611616167

Find the simple interest on 5000 at 9% per annum for 46 days. Also, find the
amount.

46 BT BEHHEG PWBHG 9% aizsbd X 50006@ o el gemuis SeRipfwalb. Ggyib,
CTsHs OFHTMHMUIS HT6wH

Find the simple interest on X 25,000 at 8% per annum for 3 years?
325,000 @53 8% ey aisbd 3 HYWBHEHEGHH SHalal g HTeww.

If a principal is getting doubled after 4 years, then calculate the rate of interest.
QT SiFeuTad 4 SpemibHeiled @Tewi(h LOLMISTHBH 61660, Ul ly IHHMHd HT6wIH.
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